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Apply conceptual understanding of measurement by solving two step word

problems.

1) Jesse’s doll is 30 centimeter tall. Sarah’s doll is 9 centimeter shorter than
Jessie’s doll. What is the total length of both dolls?

Solution: , _ ,
Jesse’s doll is centimeters tall.

Sarah’s doll is ___ centimeters shorter than Jessie’s doll.
Step 1:
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9 centimeters cut off.

Sarah’s doll is = centimeters.

By tape diagram:

-10 +1

30

Step 2:
Length of both dolls =30 + 21 = centimeters long.
By tape diagram:

+ 10 + 10 +1

30
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